EARAROBEEIERT — 2 N— IBISH —F

201711311 (£) HEEHAE

77*1’d'1l/l/—2 C3 ¥>%—#% ‘ [Xfz] W ‘ [(eErmE] — | 4 (£ 13000 &
[A&4£] 17 :200,000" ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— o AAH 126. -8-8- . — Arhfh— (FH)
1 N 4 HZ—IANRT K Ho4 56.0 1(2_6)7 SE8d | 407 B :1_734) EORES
R:7A7% BY=Z—-U5vdv7 HAHHRT 77— L4
FREIER :26. -1-1- 9 - IEER (FH)
N e IrE: R K7 A I P [mEm
L:77ZVIT7 B R4S+ b= Y2 s
o > [ 4 2505 : -12-12- — IERE ()
N - BEXET A > 6| @ 1.(227>.2 12-12-12-11 39.7 9 (4_516) R
LN=VII4 B:YrUv—H-—F> IS
. ft 3 | ATKE 1:27.5 2-2-2-2 |42.4| — 1 461 | BILAE (BH)
41812 E7 X 54.0 : (a 1/2) (1) EFRES
L:77AUI7 B:HI5%tF Fll $h—
HRE1E :27. -9-9- . - HhE= (BH)
5 2 XaYHIALEY 4 3 A (1729775) 8-9-9-8 | 41.3 4 :,265) " R
L:77NTIT BF—v—FKLyIAa N=tie]
TR =HEX :27. 77+ 8| - FHA ()
6lgli1| ZLin—HrF— # 10 = 172L§ 6-7-7-6 | 41.8 6 (5+030) e
L:TLeFFE2T BAHIVLT— RS
s = BAER : 55— — Hehfi— (Z)
7 8 Ja™/3a5 4 3 vy 1(/72{:; 5-5-5-5 | 42.2 2 (3_910) L
x4 avR—5— B:Yay/I>I1l pccie ]
~N— % 10 | ElIlEGEA 1:27.8 1-11-10-9 | 41.0| — | 7 | 437 |AKSH &)
8§ ° ‘ 54.0 (1/2) o) | LA
RV by THY BIAYCFRUES RSN )
NN . 3 | WEESE 1:28.1 9-10-11-10 [ 41.2 | — 12 | 454 | BIEXE (BE)
EE 7 Zvh b a 56.0 (11/2) (+5) FaFREs
LYK YTYRIR BiILALTAT ZYHLIT— I
e . VDES :28. FiEE 2| = EhE= (S5
10lsl 6| 755 — K 4 3 o 1(218)3 3-3-3-3 | 43.2 5 (f?)) Pl oy
X THANAN B by T— (/) HEa-KL—Ya> AET7
. — MARAH . 44~ — RAKX (&)
il Fo ez 7 oo BED A IR P G |BAEm
R:TIvvEAF B4 x77% K45
= 35 . REE—BR : —6-5- — RERZ (BF)
lsls|5H=7 1> it 4 o 1.(259).7 7-6-5-12 | 44.1 10 zg;s %E%
L:€r/0704 B:IT7S7 K- HBITr—L
® I —F—EBIERL
1a—74— 10,12,6,1,8,11,5,2,(4,7),9,3
Aol=5r= 10,12,6,1,8,5,11,4,2,7,9,3
30—7+— 10,12,6,1,(5,8),11,4,2,9,7,3
A== — 10,12,6,4,8,11,1,2,9,7,3,5
[ RN
BB 4 6,030 714K 4-10 3,830 e & 4-7 6,460 &R 3-4-10 48,460
8 B 4 1,190 3-4 5,120/ B E 4-10 12,910 JEH 4-10-3 478,620
10 310H 3-10 2,830 B H 4-10 40,360
8 460M

ABICOVWTRDTEEERROODE. TR LIV,




